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Tt sTfeamdae FIa Tl MG

(1) HgEdes ) fagaas (3) wHgw @) fawm
In Khasi tribes, system is found.

(1) Matriarchal (2) Patriarchal

(3) Joint Family (4) Divided family

Tisan:

(1) Rational number (2) Irrational number -

(3) Imaginary number (4) Integer

The total surface area of a cuboid is 148 cm?. If the length is 6 cm, the breadth is 4 cm then
the height=

(1) 4cm (2)‘ 5 cm (3) 10 cm (4) 8cm

Let A={1, 2, 3}. The number of subsets of set A is :
1) 6 2 7 3) 8 4 9

Ifu={1,23456,7 8, 9} is the universal set. C={5,6,7, 8} and D={2, 3, 4, 5, 6} are
subsets of universal set . Then CND' is the set :

1 {5 6} 2 {78 @) {23 “) 45

A bus travels at the speed of 36 km/hr. How much distance will it travel in 20 seconds ?
(1) 100 meters (2) 200 meters (3) 300 meters (4) 400 meters

The following observations are given

2,3,43,45,2,42,3,4,6

The median is :

(1 2 (2) 2.5 3) 3 (4) 3.5

The number of children in a family is given in the following table :
No. of children (x;)| 0 | 1 | 2 | 3 | 4
No. of families (f;) | 5 | 8 |23 |10 | 4

Then the mean of number of children in a family. is :
(1 2 (2 4 3 5 4) 23

HeAT HIATETS AT / SPACE FOR ROUGH WORK

P.T.O.
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9.  From the top of a building 96 m high, the angle of depression of two vehicles on a road at
the same level and in the same line with the foot of the building and on the same side of it
3 1
are x and y where tanx =1 and tany= 3 Find distance between the vehicles :
(1) 155 m (2) 120 m (3) 150 m (4) 160 m
10. T HIEH AT ASTIHE @elieieh] HIm H13 qusat ?
(1) feam (2) gt (3) eiftEm 4) Jvm
Scientists discovered deposits of which of the following in Ladakh recently ?
(1) Helium (2) Plutonium (3) Thorium (4) Uranium
11. TwHIfes el faewm yweq o o Ay YA i e ArTa.
(1) 1948 (2) 1998 (3) 1978 (4) 1988
The Integrated Tribal Development Project was started functioning in India from
(1) 1948 (2) 1998 (3) 1978 (4) 1988
12. WEUH! SO e AREFAES] TRRE WA 4. STRm 3 I aesR 2007 Hed
QR et ?
1) fowe 2) e faeo (3) YA (4) H
Mr. Atmaram Bhende was awarded by the Government of Maharashtra in September
2007 for his contribution in which of the following fields ?
(1) Film (2) Art Teaching (3) Keertan (4) Drama
13. Memory unit in computer is used :
(1) to perform all the arithmetic and logic operations
(2) to control the transfer of data and information between various units
(3) memory for storage of data program instruction
(4) none of the above
. 9
14. I sm9+2—9=1 then cos 6 =

y X 5y 2 ' 5 2L 4) None of th
M 5 @ ® 3 (4) Nore of these

AT SHIAMETS SRT / SPACE FOR ROUGH WORK
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15. SFfdeh AR FEA= (WTO) S gEam TR ST
(1) 1994 (2) 1995 (3) 2002 (4) 2003
WTO has started functioning from early . ‘
(1) 1994 (2) 1995 (3) 2002 (4) 2003
'16. IRV WIS W J 0 31 A @ A e

(1) AR, YA, TS, T (2) UTAR, SIS, TEIYE, <oTe

(3) SRS, TG, REHR, TS (@) TS, TATE, TSYY, TR

Choose the correct sequence of creeks in Konkan from North to South.

(1) Dharamtar, Rajapuri, Jaigad, Devgad (2) Dharamtar, Jaigad, Rajapuri, Devgad

(3) Jaigad, Rajapuri, Dharamtar, Devgad (4) Devgad, Jaigad, Rajapuri, Dharamtar
: «

17.

Wielierieh! HIvd! nfearet S € TR @ faevma: el v S R,
1) Tie (2) TR (3) e (4) FUR

Which of the following tribal community is a specialized herder and entirely devoted to
buffalo rearing ?

(1) Gonds (2) Khatiks (3) Todas (4) Kumbhar

18.

Choose the correct alternative :

In the following figure, £y =100°, Lx=70°,

m
X
%/v
/ n

Then the statement “line m| |line n” is false because :

(1) <£x ,Zy are not right angles (2) Z4£x,Zy are not complementary
(3) <4£x,Zy are not supplementary (4) mZx#xmZy

19.

TARA T HI 3TIEY 3R ?

(1) EA (2) STFESE (3) TEZSH (4) TRA
Allotropic form of which of the following is Fullerene ?
(1) Carbon (2) Oxygen (3) Nitrogen (4) Fluorine

ShoeAT HIUTATS! ST / SPACE FOR ROUGH WORK

P.T.O.
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20. 2004 - 05 W& RMaPd YA ISARAAT (GDP) zah Trafa 2.
1 171 (2) 15.2 (3 163 (4) 173
What was the percentage of export to the GDP in the year 2004 - 05 in the country ?
1 171 (2) 15.2 3) 16.3 4) 173
21. IV TSHY Y& UERHEAT 33% ST Afectihial q@ite Sarvar=n fofa Saen o1 ?
(1) o () YR FYE gel (AreRiaret)
(3) YRdE S U (4) EESER 9"
Which political party has decided to reserve 33% seats for women in its party
organisation ?
(1) Congress > (2) Communist Party of India (Marxist)
(3) Bhartiya Janata Party (4) Samajwadi Party
22, ECieTdah! v I TR G AEed el 2
(1) W (2) T T
(3) Y wew 4) W IM™
Which of the following State does not have regur soil ?
(1) Maharashtra (2) Madhya Pradesh
(3) Andhra Pradesh ' (4) Uttar Pradesh )
23. AR SR A qufd & .
(1) 1986 (2) 1989 (3) 1985 (4) 1990
Jawahar Rozgar Yojana started in the year .
(1) 1986 (2) 1989 (3) 1985 (4) 1990
24. AR HEUA fohd) SREHTRY A hewied Wo¥ 3 7

(1) 27 TRHTA for 9 FHgwnfad 7w (2) 26 TTHTA M 6 hgwnfad weH
(3) 28 TEEHTSY 3o 7 hewnfad ww (@) 29 TR nfYr 8 Feenfaa wem

How many States and Union Territories are there in the Indian Federal form of
Government ?

(1) 27 States and 9 Union Territories (2) 26 States and 6 Union Territories
(3) 28 States and 7 Union Territories (4) 29 States and 8 Union Territories

oA HIMETS ST / SPACE FOR ROUGH WORK
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25. TR IO WG (TH A 41) T8 &g Hd 3d ?

(1) e SRAlen

(2) e ST s

(3) SAAIET THT JTRATEN

(4) TIAGIET AR i Syt

What is allowed in File Transfer Protocol (FTP) ?

(1) Only downloading ’

(2) Only uploading ’

(3) Downloading as well as uploading

(4) Neither downloading nor uploading
26. Gcilciieh! HIvMl 981 TAERUNdE 7o aga STHATG 310 HE Hhal 2

(1) 3T (2) B (3) wgha (4) TR

Which of the following tree is capable of fixing atmospheric nitrogen into soil ?

(1) Mango (2) Babul (3) Neem (4) Mahua
27. A'rectangular box is 6 m long, 5 m broad and 7 m high. What is the length of the longest

rod that can be kept in it ? o

(1) 15m (2) J110m (3) 210m (4) 315m
28. Observe the following figure :

A ;
B C
135°

What is mZA =?

(1) 45° (2) 135° (3) 90° 4) 15°
29. FIML ARiE JRA A YHIO So ST e 3T,

(1) R (2) (3) (4) 0 i) R T

Soil erosion is on forest soil than open areas.

(1) more (2) less (3) equal (4) none of these

oAl RIS ST / SPACE FOR ROUGH WORK

P.T.O.
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30. If (x—2) is a factor of polynomial x2—ax+ 6, then the value of ‘a’ is :
a 2 @ 5 @) 6 @) 10
31. A person purchased a F.M. Radio for Rs. 530 and sold it at 25% loss. Then his loss is :
(1) Rs. 75.50 (2) Rs. 107.50 (3) Rs. 112.50 4) Rs. 132.50
32. Areas of two similar triangles are 64 cm? and 36 cm?. If one side of larger triangle is
12 c¢m, then the corresponding side of smaller triangle is .
(1) 8cm (2) 6cm 3) 9em (4) 12 cm
33. The fourth proportional to 3, 12, 7 is :
(1) 36 (2) 28 3) 15 S 4) 19
34. 3. T Ul FAIGEIIER * e Rusy’ ST ‘ worsenet’ a1 €9 a1 TSee~ =
TRTEd FHIES SFUATd AT, <
(1y 1972 (2) 1973 3y 1974 (4) 1976
The terms ‘Secular’ and ‘Socialist’ were added to the Preamble of the Constltutlon by a
constitutional amendment in the year .
1)y 1972 2) 1973 3y 1974 (4) 1976
35. NG FRISH SR S1ee _ € .
(1)  Usgust (2) dawu™
@) T (4) oefwd
The Chairman of Planning Commission of India is
(1) President . (2) Prime Minister
(3) Home Minister (4) Finance Minister
36. ‘''Tcg AEcSaR® B (WWF) &1 | e & AN AL
(1) 1940 (2) 1950 (3) 1955 (4) 1960
“World Wildlife Fund” was launched in the year :
(1) 1940 (2) 1950 (3) 1955 (4) 1960

HEAT HIHTETS AT / SPACE FOR ROUGH WORK
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41.

37. ULYd WICHcish! HIvIe =1 SAFRIG Hgd 2% Wehd TG ?
(1) wRrEEEE (2) WA= T AR

(3) HEIT KU AR AL 4) T
Who of the following cannot be removed from office by the President by using his own
authority ? -
(1) Attorney-General (2) Judge of the Supreme Court
(3) Chairman of the U.P.S.C. (4) Governor

38. faam anfor dagmTr= TR

' (1) T WIS Jod Tgdrel QAT gel AR
(9 A S, e St Ferr=h Hid wed
() TSR WIEH, T A Sfta Tgt Seeredt
(1) 3 0« SRR (2) 9 N0 % TR
(3) 31 3Tt & SR (4) 3, 9 N0 & S
Scientific and technological development has :
(A) not restructured the older social value system
(B) created new cultures, new variety of products and services
(C) changed ways of communication, hobbies and life style
(1) A and B are correct (2) Band C are correct
(3) A and C are correct (4) A, B and C are correct

39. A salesman is paid 6% commission on the total sales and additional incentive at 4% on the
excess of sales over Rs. 10,000. Then the total earning on the sales of Rs. 21,000 is :
(1) Rs. 1,000 (2) Rs. 1,260 (3) Rs. 1700 (4) Rs. 440

40. FhH IwrRE S et TN AT AT
(1) ¥R ¥ (2) s (3) WA (4) TUHT HIVAE AR
To obtain energy in artificial satellite are used.
(1) solar cell (2) Dbattery (3) generator (4) none of these
3 (Yhedl) ey s Haia e 31 v ?

(1) == (2) Sive @) & (4) et
Which is the outermost colour in'Secondary Rainbow ? '
(1) Red (2) Violet (3) Blue (4) Green

THEAT HIHTETS! ST / SPACE FOR ROUGH WORK

P.T.O.
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42. WIS ST TG TAHT 15 ST ST I 2

(1) SIgfea S (2) ST SR

(3) STYEEAIS | @) W

Which one of the following has not been mentioned in article 15 of the Constitution ?
(1) Scheduled Castes ; (2) Scheduled Tribes

(3) Minorities . (4) Children

43. If x+2 divides the pblynomial x2—ax — 6, then the value of ‘a’ is :
1 1 2 -1 @) 2 4 -2

44. Ina class of 40 pupils, 6 passed the examination with a first class. Then the pércentage of c
pupils who passed with a first class is :

(1) 24% (2) 4% 3y 10% 4) 15%
45. TEZSH HFIES Te FOM Tt _ _ AR,

(1) s ) d@T @) wA (4) TR

The plant tolerant to Nitrogen oxide is . :

(1) Mango (2) Banyan (3) Orange (4) Pear

46. The volume of a right circular cone with radius 7 cm and height 24 cm=

-3

(1) 1232 emd (2) 3696 cm? () 1176 cm? (4) None of these

47. e M UL 99 STHREH YRAT IS AR ?

(1) gd () e (3) e (4) FREE
Indira Gandhi National Forest Academy is located at :
(1) Mussoorie (2) Dehradun (3) Hyderabad (4) Coimbatore

48. Given two c'oncentric circles of radii 5 cms and 4 cms. Then the length of chord of larger
circle which touches the other is

(1) 6cms (2) 9 cms (3) 20 cms (4) None of these

T SHTATATS! ST / SPACE FOR ROUGH WORK
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49.

The diagonals of [ JABCD intersect each other at P. If AB=5, AP=4, BP=6, CP=6,
DP=9 then DC= .

1 7 (2) 8 (3) 10 4 75
50. 2001 HHieT gER foeRiiel TR S @iH!, Igfad Sl dihdei Yehel T
.
(1) 65.00% (2) 56.50% (3) 65.50% (4) 50.65%
Percentage of scheduled tribes in Nandurbar district to the total populanon in the year
2001 was _ -
(1) 65.00% (2) 56.50% (3) 65.50% (4) 50.65%
' 4
51. The quadratic equation m + mo 4 has the solution :
1) m=21 (@) m=-2,-2 (3) m=42 4) m=-41
52. If 0 is an acute angle, then the equation tan § =2 sin 0 gives the value of 0 as .
(1) 0°or30° (2) 0°or 60° (3) 0°or45° (4) None of these
53. In trapezium PQRS, side PQ || 51de SR, /P=45,/Q=30°. If PS=6+2, SR=8 then
PQ= _
1) 20+J§ ) 2043 B) 14+643 @) 1443
54. Broadly flow charts are classified into categories.
1 2 @ 3 @ 4 4 5
55.

_ A e A Her T IR SO Hewrh fien s,

(1) -@nd Fgre 2) wanf e
(3) W@l WEUrS (4) Tl fadFrs
played a significant role in the freedom struggle of the princely state
Hyderabad
(1) Swami Shraddhanand (2) Swami Ramanand
(3) Swami Swaroopanand (4) Swami Vivekanand

T FHITES! WA / SPACE FOR ROUGH WORK

P.T.O.
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56. If thesets U ={1,2,6 3,4, 5, 6} and A={1, 3, 5}, then (A’) is the set:
1 {12 3} (2) (4,5, 6} (3) (2.4, 6} 4) {1,3,5}

57. Wieliciyeh! v sel RArsl gy fharame) -t ?

1) e (2) higen (3) HTER @) T
Which of these Port is not situated on the Western Coast of India ?
(1) Mumbai (2) Kandla (3) Manglore (4) Tuticorin

58. Side of an equilateral triangle is 8 cms. Find the side of an equilateral triangle whose area
is twice the area of the first triangle :

(1) 16 ems (2) 12cms B) 842 cms (4) 8cms c

59. A tree is broken due to storm and the broken part bends so that the top of the tree touches
the ground making an angle of 60° with the ground. The distance from the foot of the tree
to the point where the top touches the ground is 20 m, then the height of the tree is

(1) 2043m 2) 20+3m
(3) 20 (2443 )m @ 20 (1443 )m

60. The value of tan 10°tan 25°tan 65°tan 80° is :

1
M o @ 1 G) -1 @ 3

‘

61. Two numbers are in the ratio 2 : 3. If 5 is added to each term then the ratio becomes 5: 7,
then the numbers are :

(1) 7and 8 (2) 10 and 21 (3) 20 and 30 (4) 14 and 15

62. Wmmmmwmw (slums) TRIAME ?
1) 2% 2y 4% (B) 6% 4) 9%
What percentage of Maharashtra’s population live in slums of Greater Mumbai ?
1 2% (2) 4% (3) 6% 4 9%

THeAT HIWHAS 9T / SPACE FOR ROUGH WORK
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63. ¥ BRI ERT qoare R ST,
(1) faem (2) T (3) <R (4) W
Salt Lake is located in Maharashtra.
(1) Chilka " (2) Coleru (3) Lonar (4) Sambhar
64. The set {x|x is a factor of 50} is :
(1) empty set (2) finite set (3) infinite set (4) none of these
65. A person paid Rs. 1,800 as the simple interest after 5 years at the rate of 9% per year on a
loan. Then the borrowed amount on loan is :
(1) Rs. 3,000 (2) Rs. 4,000 (3) Rs. 5,000 (4) Rs. 6,000
66 fl +CosA _
) 1-cosA’ '
(1) cosec A+cot A (2) sec A+tan A
(3) cos A+sin A (4) sec A+cosec A
'67. WAAYY @[ FfCH Sl Hash o= a1 HIof el 2
(1) SFRR SO (2) Thfeg e (3) W FA (4)  STAHRI TE
In pre-Independance period, who established the tribal welfare and cultural society ?
(1) Thakkar Bappa (2) Govind Karve
(3) Mahatma Phule (4) Jaiprakash Narayan
68. If the N observations (numbers) are arranged either in ascending or in descending order

of magnitudes and if N is odd then median is :

h h
(1) [%]_]t term (2) [ N;1 Jt term
th th
3) [ % ] term (4) ( —Ii—T ] term

oAl SHTHTETS! S / SPACE FOR ROUGH WORK

P.T.O.
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69. If the mean of 20, 18, 13, 12, K and 10 is 15, the value of K is :
1 12 (2) 13 3) 17 (4) 20

70. SiRNfiTR SERAHE HERERESAES (SO,) = THI 3ok STHTIC Ui,
(1) 5000 wg/m3  (2) 2000 pg/md (3) 1000 pg/m3 (4) 1500 pg/m3
The permissible concentration of sulphur dioxide (SO,) in industrial area is .
(1) 5000 pg/m? (2) 2000 pg/m? (3) 1000 pg/m?3 (4) 1500 pg/md

71. fvew, mfad, U], 919, g9, e, At R, §__ [aunTa ek sTfeerd
Y™ 3R
(1) e (2) WEYE 3) Tieaw 4) wIH <
Bhilla, Gavit, Dhanka, Pawra, Hubla, Kolam, Tadwi, Korku are tribal communities found
in area.
(1) Sahyadri (2) Satpuda (3) Gondvan (4) Konkan

72. Mean of a set of observations is the value which :
‘ | (1) occurs most frequently (2) divides observation into two parts

(3) is a representation of a whole group  (4) is the sum of observations

73. @Icier ara arer ;
I o e, giEE a fagwa dgw (V) ugdiEn e w0 § 3-md e Aie

I 3.
T > 9N (ShfeT HISH) € A YR S,
(1) AR TH , (2) o S A gH
(3) & 3nfo & g% (4) 31 3 9 T

Read the statements :

A —  The greatest challenge for e-commerce is the development of fast, secure and
reliable payment method.

B —  Credit cards are safer than cheques. -
(1) A correct B wrong (2) B correct A wrong
(3) A & B are wrong (4) A & B are correct

THoAT HIES ST / SPACE FOR ROUGH WORK
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74, ‘VINER Wiate= feR Ruareret T soedt 9fd (1948) _ ¥ W@ BN
(1) =M (2) . BRTEN
(3) . 9sgE ' (4) <. yHifyRrR
The ‘Linguistic Provinces Commission” (1948) was headed by
(1) Justice Dar (2) Justice Chagla
(3) Justice Chandrachud (4) Justice Dharmadhikari
75. T foght Tt W, $etiee TN el WM.
(1) 3-9d 2) I-m" (3) gt (4) 3-¥e
The selling and purchasing of goods on internet is done by :
(1) e-mail (2) e-commerce (3) e-banking (4) e-chat
76. (1- cosﬁj (cosech +cotf) =
(1 1 (2) cos® (3) sin® 4 O
77. If a and b are any rational numbers and m and n are positive integers, then
(am)n =_
(1) am/n (2) an/m (3) am-n (4) amxn
78. The solution of I tion 2+25-X 17 o
. e solution ot linear equation 2 5 3 30 1s :
(1) x=1 (2) x=2 B) x=3 4) x=5
79. Weierde IO SISl gehrEt 3T ?

(1)
(3)

‘&' SHeEE - TaeTesy @) ‘& e - =
‘&' Sfaaa - Whedl (4) ‘T foEE - TEH

Which of the following is not correctly matched ?

(1)

(3)

Vitamin A - Night Blindness (2) Vitamin B - Skin Diseases
Vitamin C - Scurvy (4) Vitamin D - Sterility

HoAT HIFETS SIRT / SPACE FOR ROUGH WORK
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80. A toy is in the form of a cone mounted on a hemi-sphere of a diameter 7 cms. The total
. 22
height of the toy is 14.5 cms then volume of toy is . ( Take 7= 2 ]
1) 213 cm3 (2) 231 cm? (3) 230 cm3 (4) None of these
81. A hollow hemisphere of rédius 50 ¢m is painted from innerside at the rate of
10 paise/cm?. Find the expense. (Take m=3.14)
(1) Rs. 1,550 (2) Rs. 1,560 (3) Rs. 1,570 (4) Rs. 1,580
82. STIel welid ferard AT ehioran ?
(1) ¥F Tt (2) IR frr (3) WA fEw (4) s TR
Which is the most poisonous fish in the world ?
(1) Snake Mackerel (2) Viper Fish
(3) Stone Fish (4) Banded Rainbow Fish
83. The mode of a set of observations is the value which :
(1)  occurs most frequently
(2) is central
(3) is between maximum and minimum
(4) none of the above
- 84. Any positive integer is divisible by 8 if and only if the integer formed by its last
digits is divisible by 8.
(1) Onme (2) Two (3) Three (4) None of these
85. A rectangular sheet of paper 22 cms long and 12 cms broad can be curved around its
length or breadth to form two different right circular cylinders. Find the difference between
their volumes : o ,
(1) 200 cm3 (2) 211 cm? (3) 210 cm3 (4) 201 cm?
86. WU Hocdl G ST HERIST AN,

(1) HeI, Eig, s, [ Q) fiuem, Tiie, Fram, Hasd

(3) &, |R), =g, S (4) T, DA, TR, A=

Which of the following tribal communities are found in Maharashtra ?

(1) Munda, Khond, Bhumis, Uraon (2) Bhilla, Gond, Kolam, Katkari
(3) - Baiga, Boro, Chenchu, Khoya (4) Santhal, Kola, Garo, Lepcha
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87.

The difference between the largest and the smallest number in the data is called the :
(1) class intervals (2) range (3) class limit

(4)

class width

88. N TATEANE T THE IS F U q HQ, |
(1) A (2) ieer=<h (3) sagHe TeAd Uleiieig!
In a female marries several males at the same time.
(1) Monogamy (2) Polyandry
(3) Elopement (4) Fraternal Polyandry
89. From the following data :

15, 14, 19, 15, 14, 15, 16, 14, 15, 18, 14, 19, 15, 17, 20.
Find the mode.

(1) 5 2 15 3 17 4 7
90. uiea @it = a9 e

1) s (2) IR (3) 9= @) T

Pandav Caves are situated near .

(1) Nasik (2) Awurangabad (3) Verul (4) Mumbai
91. TN HHY 9 S § ST H A 3R ?

(1) 3P Hm (2) 3R

(@) wifeg (4) TR G

The Wagah Border is now called as : '

(1) Amritsar Border (2) Attari Border

(3) Bahid Border (4) Jalandhar Border
92. The product of 7~2 and 73/4 is :

-3 —6 =3 -7
P 72 2 74 (3 74 4 72

93.

[_IABCD is a trapezium. seg AD || seg PQ || segBC. A-P-B and D-Q-C. If AP=10,

PB=12 and DC=33 then DQ=
1) 15 @ 12 (3) 16.5

4)

13
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The volume of a right circular cylinder with radius one metre and helght one metre is :
(1), greater than 3 m? (2) less than 3 m3
(3) greater than 4 m® (4) greater than 1 m3 but less than 2 m3

95.

In AABC, ZABC =120°, AB=10 cm, then the altitude on side BC is of length
(1) 5cm (2) 543 cm (3) 542 cm (4) 545 cm

96.

9 (%) feder 1946 USH YR w21 witd=n ufeen sifasAE e 3ta Fivh qigen ?
(1) L TSE THE (2)  HETCHT Mt
(3) U EE (4)  TSEETETER

Who introduced the ‘Objective Resolution” in the first session of the Indian Constituent
Assembly on 09th December 1946 ?

(1) Dr. Rajendra Prasad (2) Mahatma Gandhi
(3) Pandit Nehru (4) Rajagopalachary
97. |T 2007 - 08 =1 TETSIFHIIER X Hekir=l HATE Afeaiardl i A
(1) 1,45,000 . (2) 1,35,000 %. (3) 155000% . (4) 1,10,000 %.

According to Budget 2007 - 08, the tax exempted income limit for women was

(1) Rs. 1,45, 5,000 (2) Rs. 135000 (3) Rs 155000  (4) Rs. 1,10,000

98.

afEe ard 7l Tifeey HheH v TR e SR A8 ?

(1) w (2) ¥ (3) WETR (4) IR
In which city is the Akhil Bharatiya Marathi Sahitya Sammelan is to be held ?
(1) Sangli (2) Satara (3) Solapur (4) Kolhapur

99.

A+B
In a AABC, sin 5

has value .équal to

. C C C
(1) sin = (2) cos — (3) tan—z— (4) None of these

100.

In a data, 10 numbers are arranged in increasing order. If the 7th entry is increased by 4,
then the median is increased by :

1 0 2) 4 () 6 4) 5

heedT ShTHTTS! ST / SPACE FOR ROUGH WORK
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101. 78 (NERI) U :
(1) ST vATER0T HINeE Hee () EfitE It Geem g
(3) U ShrcirSl TRNE Heen (4)  SHIAUR! HIORE T

NERI stands for :

(1) National Environmental Research Institute
(2) National Energy Research Institute

(3) National Ecological Research Institute

(4) None of the above

102. A rectangular vessel of dimensions 20 cms by 16 cms by 11 cms is full of water. This water
is poured into a conical vessel, the radius of whose base is 10 cms. If the conical vessel is
completely filled, find its height :

(1) 33.6 cms (2) 33.5 cms (3) 30.5 cms (4) 20 cms

103. 3Tfeere SRS Halld S STKITd S Fayd §d ?

(1) W& (2) S| EgE (3) W (4) Ted
The oldest person in tribal community is recognised as :
(1) Pradhan (2) Clinal head (3) Sarpanch (4) Leader

104. 59<R 7 feam T WIS Hell ST, ‘

1) TN feam (2) e feem () e feem (@) T faw
September 5th is celebrated as . _
(1) UNO Day (2) Children’s Day (3) Tourism Day (4) Teacher’s Day

105. In the adjoining figure, x > y. Then which of the following statements is true ?

(1) Side AB < Side AC (2) Side AB = Side AC
(3) Side AB > Side AC (4) Cannot say

HoAT hHTHTETS! SN / SPACE FOR ROUGH WORK
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106. Greierieh! ivil ZrEiEETa MY e T ?
(1) «fEs 2) §HA (3) Wiehet (4) WIHE
Among the following, who has not discovered transistor ? .
(1) Bardeen (2) Brattain (3)  Schokley (4) Rutherford
107. TF TR AT WG ARAERIA T A Lo 2007 Wel THIv SRAegan Feerid
HIVT e T[T JHIT Faid S 3718 ? / |
M (2) FEER @) H% (4) TR
Which city is having the highest crime rate in Maharashtra as per the State CID’s report -
‘Crime in Maharashtra’” published in September 2007 ?
(1) Pune (2) Kolhapur (3) Mumbai (4) Nagpur
108. Towames weumed faRre (frfcwe) quamrerared fadt e 3r@a?
(1) o™ 2 I (3) R & (4) R S
What is resistivity of superconducting material below critical temperature ?
(1)  infinity (2) zero (3) wvery low (4) very high
109. I TEITSAT T BroT SNfearE fommeE "R,
(1) wHSA (2) vefa® (3) Tttt (4) forepa 4@
The marriage by mutual consent is called as in tribal community.
(1) Capture (2) Elopement (3) Raji-Khushi (4) Purchase
110. If x=log,M and y=log,N, then the product MN is :
(1) MN=a% (2) MN=a*ty (3) MN=a*"¥ (4) MN=a/y
111. An ink container of cylindrical shape is filled with upto 91%. Ball pen refills of length
12 cms and inner diameter 2 mm are filled upto 84% length. If the height and radius of
the ink container are 14 cms and 6 cms respectively, find the number of refills that can be
filled with this ink :
(1) 4500 refills (2) 4525 refills (3) 4550 refills (4) - 5450 refills
112. The sum of a Rational and an Irrational number is

(1) A Rational number (2)  An Irrational number
(3) An Integer (4) A whole number
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113.

R Al HU ©

(1) THHE YHRE T qifesa |

(2) T T g WARN SEE™ aTH uifEsa

(3) HISTHINSTE hadl HId SISUR JTHET

(4) THT NEhid AOROR SHET

Computers on the internet must :

(1) Dbe of the ’s‘ame type

(2) be able to connect to one internet server for the country

(3) connect to a coaxial cable connector
(4) use the same protocol

114. ‘3ifas |’ ¥ Geicis! HIMS B4 ?
(1) A SH SRS () UTH TH FTEES
() TEEISE TH RS @) FEA GRS
The phenomenon of ‘Acid Rain” is due to emission of
(1) Carbon dioxide ’ (2) Sulphur dioxide
(3) Nitrogen dioxide (4) Carbon monoxide
115. TTSH vl YHRE WY 3R ?
(1) =9 (2) . YL
(3) TR/ MY (4) IUH HOKE E
Which type of device the modem is ?
(1) Input (2) Output
(3) Input/Output (4) None of the above
116. AABC is an isosceles triangle with ZC=90°. If [ JABPQ is a square then the ratio
A ([JABPQ): A (AABC)=__ .
‘(1) 1:4 (2) 8:3 3) 3:8 4 4:1
117. A solid metallic right circular cylinder of radius 30 cm and height 6 cm is melted to make

solid spheres of radius 3 cm each. The number of spheres formed = .
(1) 200 (2) 150 (3) 300 (4) None of these

ol TS WA / SPACE FOR ROUGH WORK
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118. 5 YSHUTY TG HRU HIUR ?

1) sienfie 3 el w91 (2) uxurEr fAfd

(3) T wEq (4) St BIUCE AT
The primary source of water pollution is :

(1) Industrial and Urban Waste (2) Dams Construction
(3) Household Waste (4) None of the above

119. Wafieh Faeromrea Srefehietonsl &e o 159 TWhR Jhd e 1 He AR ?
(1) wd 9 AfgEE ' ) w& foen sfEm 7
3) w9 ura AfEmE (4) = faen tfam | <

What is the name of the scheme launched jointly by the Centre and States to universalise
elementary education ?

(1) Sarva Bharat Abhiyan (2) Sarva Shiksha Abhiyan
(3) Samarth Bharat Abhiyan (4) Bal Shiksha Abhiyan

120. In APQR, seg MN || side QR, P-M-Q and P-N-R. seg MN divides APQR into two parts
equal in area. If PM =4 then PQ= .

1) 6 2) 7 3) 42 4 642

121. 10 =0 YEate deMd T@ I SR (GDP) TE TFh 3UGY IR B
1) 7.8 2) 8.0 3 91 4) 9.4
10t Five Year Plan aims to achieving an average growth rate of ____ percentage
in the GDP.
1) 7.8 2) 8.0 (B) 9.1 4) 9.4

.

122. If a and b are any rational numbers and m and n are positive integers. m > nand a%0
then a” +qa" =

HoAT HTHTEIS AR / SPACE FOR ROUGH WORK
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123. @EH 3ffearst 1 AL TGS,
(1) T feAmerEE s (2) e ferer wm
(3) ufvem femmerd wm (4) a3 ferrerd wm
The Khasas tribes are found in
(1) Central Himalayan Region (2) Eastern Himalayan Region
(3) Western Himalayan Region (4) Southern Himalayan Region
124. The point of concurrence of the altitudes of a triangle is called :
(1) Centroid (2) Incentre (3) Orthocentre (4) Circumcentre
125. If tan9=—2xi+—1—) then cos 6 is
x+1
2x+1 5 2x—1
S @ S Ziax+1
2x-1 2x+1
®) 2.1 ‘ @ 5 i2x+1

126.

IS, S, ST A1 RV T e <A el 3Ted ?

(1) hererd (2) Fom (3) (4) TR
Manjara, Wardha, Wainganga are the tributaries of river.
(1) Godavari (2) Krishna (3) Cauvery (4) Mahanadi

127.

1
Twenty years ago, my age was 7 rd of what it is now. My present age is :

3
(1) 66 years (2) 30 years (3) 33 years (4) 36 years

128.

If 2 percent of a number is 12, then the number is :
(1) 24 (2) 200 (3) 120 (4) 600

129.

The solution of the simultaneous equations 4x +2y=20; 5x ~2y=7 is :
1) 42 @ &9 @ 6 -2 4) (7 20)

&Heell KIS ST / SPACE FOR ROUGH WORK
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130. The total surface area of a solid metallic sphere is 1256 cm?2. It is melted and recast into
solid right circular cones of radius 2.5 cm and height 8 cm. What is the number of cones
recast ? (Take wm=23.14) '

(1) 40 (2) 60 (3) 80 (4) 100

131. fr{gave & dehean gfshan guifad.

(1) SERI® | (2) @Rt

(3)  SIIfdehIeRol (4) TR

The term disinvestment is used to indicate the process of

(1) Liberalisation (2) Privatisation
(3) Globalisation (4) Nationalisation

132. HERTE WHRA AfIeR 2007 947, ﬁaui?ﬁas‘rmm SEHSHNIS HRO WIS HIOTH!

gt hefi ?

(1) THTg, @faeE Q) g SvE

(3) =& P (4)  veTeE UM

Who was appointed in October 2007 by the Government of Maharashtra to probe the
causes behind farmers’ suicides in Vidarbha ?

(1) M.S. Swaminathan (2) Narendra Jadhav

(3) V. Kurien (4) Bhalchandra Mungekar

133. Shd HARIITS T HIUAHEIE! HIOK ST AR 7
(1) N em 2) THIMHW R (3) 31 W IR (4) TATH AR
Which device is used in banks for reading cheque ?

(1) OCR (2) MICR (3) OMR (4) NMR

134. WRien! IV SO IO TIel TGl ?

1) -s=m (2) IO AT
(3) b (4) T 3N TR
Which of the following is not disadvantage of computerisation-?
(1) e-banking (2) computer addiction
(3) hacking (4) crimes and frauds
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3sin 62° _ sec 42°

135. The value of s 28°  cosec 4g® 1 |
M 1 @ 2 @ 3 4 0
136. FHA THA AVFITE i1 DIV TIH FOIKR <oard 7T ?
(1) 379N =6 (2) a9 () a=F (4) T fafdre Ja1 wF
Which award was posthumously given to Colonel Vasant Venugopal ?
(1) Ashoka Chakra (2) Kirti Chakra
(3) Veer Chakra ‘ (4) Param Vishisht Seva Medal
137. The radius of sphere is 10 cm. Then it’s surface areais _ . (w=3.14)
(1) 624 cm? (2) 612 cm? (3) 1256 cm? (4) 628 cm?
138. The logarithm of a number to the same base is :
1 o 2) 1 3) = (4) None of the above
139. Wefierte HUR SR fefeel T ?
(1) TTH T & - Nexmrug HoaE: ara Iiad.
(2) T R - der W dte Rewa.
() < wH e & - fasireyAl Wark b Rihd.
(4) <= TE AR AR - = T e Weainfiex
Which of the following is not correctly written ?
(1) ASLV - Advanced Satellite Launch Vehicle.
(2) PSLV - Polar Satellite Launch Vehicle.
(3) GSLV - Geostationary Satellite Launch Vehicle.
(4) VHRR - Very High Resolution Radiometer.
140. 1 UoaTis A geF SR .
(1) sienfie g (2) df TR
(3) Toreomsh o (4) IR
The main objective of the Second Five Year Plan was :
(1) Industrial Growth (2) = Agricultural Growth
(3) Educational Growth ' (4) Employment Growth

o SHINMETS WIRT / SPACE FOR ROUGH WORK
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141. SR St Fcften Hered HorqraarE e 1 @A 69.8% TAGT B,
(1) 2000 - 2001 (2) 2004 - 2005 (3) 2005 - 2006 (4) 2006 - 2007
Commercial banks contributed 69.8% in total credit flow to agriculture during
(1) 2000 - 2001 (2) 2004 - 2005 (3) 2005 - 2006 (4) 2006 - 2007
142. The Highest Common Factor (H.C.F.) of 36x% and 45x is :
(1) 3x (2) 6x : (3) 9x (4) 36x2
143, SfCARR SUTAYEY AT HRUTYA TR & HRUI IV ?
(1) e faa’ (2)  HAwEm @) WIayEyE (4) T AR ST
'The main reason behind the child death in tribal community is :
(1) Intercaste Marriage (2) Malnutrition
(3) Incidence of Diseases (4) Reduction in Forest area
144. = T TR SfE o i 1873 HEd el
(1) FRIYS A () I A
(3) THEH | (@) TaFw faem
Mahatma Jotirao Phule established in 1873.
(1) Satyashodhak Samaj (2) Arya Samaj
(3) Paramhams Sabha '~ (4) Ramkrishna Mission
145. A journey takes 5 hours, if the speed of the bus is 48 km/hr. Then the time required for

the same journey, when the speed of the bus at 40 km/hr, is :

(1) 6 hours (2) 7 hours (3 8hours ~ (4) 9 hours
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146. Read the following Flow-chart :

Write a, b
Area=A

This Flow-chart is for calculating :
(1) Area of the circle

147.

(2) Area of the rectangle

(3) Volume of the sphere

(4) Volume of _the cube

M TS AN A1 9IS el o1 HEfeq oAt 9ae el
(1) & ) TR (3) @MW (4) faes

Sane Guruji made efforts to organise the peasants community particularly in
area.

(1) Konkan (2) Marathwada (3) Khandesh (4) Vidarbha

148.

WA IR TR ST SR Sq0ATE [ TR 1! ?

(1) wfgen () FgrEa St |

@) rggfea SR (4) wrTRER(TE AR

It is not mandatory for states to reserve seats in Municipalities for one of the following.
Choose the right option.

(1) Women (2) Scheduled Castes

(3) Scheduled Tribes (4) Citizens of Backward Class

149.

Tt fedean snfeardt SHRide v SHE S9EaT Foorie TR ?

(1) WA (2) & (3) @ (4) Tis

The tribals belonging to Dravidian family is represented by :
(1) Kolis (2) Bodos (3) Khasis (4) Gonds
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150. The value of sin 35°.sin 55°—cos 35°.cos 55° is :
(1) o 2 1 3 -1 (4) None of these
151. fgea deEies G e wfes e dsm & T 7o w2 B
(1) onfear fowm @e @) fawm g@g/get '
(3) Y Aqwd faer (4) SR faew
During the First Five Year Plan, under Group Development Projects was a
major unit of development.
(1) Tribal Development Block (2) Development Block
(3) Small Farmers Development (4) Agricultural Labour Development
152. VAR e JI e Hee TEvarEet siife sere SEEEICI)
IO T 3R
(1) 222k (2) 33 TFF (3) 10 TFk (4) 40 TFR
To maintain ecological balance, out of total geographical area area must be
under the forest cover. ,
(1) 22 per cent (2) 33 per cent (3) 10 per cent (4) 40 per cent
153. IR0 YR a1 A ks UM hivcdl JaTe HalLdrd ?
(1) S () st @) W& (4) =
Poor man’s timber is the name of which of the following ?
(1) Jamun (2) Mango (3) Mahua (4) Bamboo
154, GrEfeTdeh! Shiorar ~ar * g T wit Her Tog ?
(1) SEIER (2) ATCAl oFsTae
(3) U #T U A (4) @ ggFR
Which one of the following leaders was not associated with the ‘Hindu Mahasabha’ ?
(1) Bal Mukund (2) Lala Lajpat Rai
(3) Pt Madan Mohan Malaviya (4) Swami Shraddhanand
155. From the top of a building 30 m high, the measure of the angle of elevation of the top of a

tower was 30° and from the bottom of the building the measure of the angle of elevation
was found to be 60°. Find the height of the tower :

1) 45m 2) 40m (3) 1543 m 4) 3043 m
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156. TR R A1 G TGN A S THTOMG 2 2

(1) T F EeTS a’ () ifoore 3o w

(3) HicsvaTT @it (4) I F TR A

In environment, which of the following causes more lead metal pollution ?

(1) Motor and Heavy Vehicles (2) Thermal Power Station |

(3) Coal Mines (4) Pulp and Paper Industry

a b .
157. 1If = = and a+b+c#0 then each ratio is equal to :
b+c c+a a+b
1

o 3 2 2 @ 0 4 3
158. The compound interest on Rs. 700 at the rate of 10% per year for two years is :

(1) Rs. 70 (2) Rs. 140 (3) Rs. 147 (4) Rs. 247
159. The part of the computer where the processing is done is :

(1) CPU (2) Control Unit  (3) Processor (4) Register Unit
160. @eiicTdeht ShIvAT §-Tel Hauman (HESTa1) Jod U el ?

(1) = (2) W (@) fafr (4) ¥

Which of the following is not basic element of E-mail message ?

(1) Newsgroup (2) Message (3) Signature (4) Header
161. G Hiom= FrIRT TaTe SHiad ?

(1) WHEHEEEE (2) WG

(3) S AT A (4) wERATHEeRT

Who of the following is appointed by the Governor ?

(1) Attorney-General (2) Comptroller and Auditor General

(3) Judges of the High Court (4) Advocate-General
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anfearel foere &1 wds fasm TE T HIOIT ST,

(1) 1983 (2 1975 (3) 1990 (4) 1988
An independent department for Tribal Development was established in the year :
(1) 1983 (2) 1975 (3) 1990 (4) 1988

163.

How many times a wheel of diameter 105 cm rotate in covering a distance of 330

: 22
metres ? ( Take w= 7 J

(1) 10 revolutions ‘ (2) 100 revolutions

(3) 1000 revolutions _ (4) None of these
164. A sector containing an angle of 90° is cut from a circle of radius 42 cm and folded into a

22

cone. Find the radius of the base of the cone. ( = J

(1) 10.5 cm (2) 21 cm (3) 10 cm (4) 20 cm
165. If 4 A and 11 A are acute angles and tan 11 A=cot 4 A, then A=

1) 44 2 u 3) 6 4) 2

M @ 5 (3) @ 3
166. qgaifiies e IREa FeaT@ Ny oA 3T,

1) dfeen 2) TEA @) fow=n (4) A

In Five Year Plan, priority was given to remove poverty.

(1) TIst (2) TInd (3) Ird (4) Vth
167. In ATPQ, LT =65°, ZP =95°. State which of the following statements is true :

(1) PQ<TP<TQ ) PQ<TQ<TP

(3) TQ<TP<PQ (4) TP<PQ<TQ
168. framia seauRN aeadt 9 yroai=an fafauden S BU[A dayd Sid ?

(1) ifeer ferfererar @) fafawm

(3) A=Y (4) afifE ST

The diversity of flora and fauna in nature is referred as :

(1) Biodiversity (2) Variation

(3) Separation (4) Environmental differences
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= T T AR @ 4 T W . 30 IR S A g ST I IS w2

(1) S WWeMeIwWH (2 =NTWWIN

(3) <R TH TH AR .3 A St (@) sft e

What is the domain code in the internet address - VSSR@USC.org

(1) VSSR@USC (2) VSSR (3) VSSR.org (4) org

170.

Hard disk of the computer is :

(1) direct access storage device

(2) sequential access storage device
(3) rarely used with micro computers
(4) Dboth (1) and (2)

171.

WIAAUS! BV FHdeh 916 IIIvIERE 9T 2

1) e 2) =R () dFdm (4) ffaferm
Which of the following fungi is used in making bread ? _
(1) Yeast (2) Mucur -(3) Bacteria (4) Penicillium

172.

A sphere of radius 5 cms is placed on a tylinderical vessel of base radius 4 cms. Then the
volume of the part of the sphere which will be inside the cylinder is :

(1) %wcmg' (2) —53—1rcm3 (3) %%wcm | (4) %wcmz

173.

TrefTerien! vl &9 Wi HisR R ScaEe S ?

(1) HTedl 43R (2) <EET UK

(3) BRI AR YK @) = Yt woaEd T

Which of the following is known as the storehouse of mineral resources ?
(1) Malva Plateau (2) Deccan Plateau

(3) Chota Nagpur Plateau (4) None of the above

174.

RAM IV YhICAT WA Ggaral Wkt Fefl 318 2

(1) eAehy e ggd (2) HE WA gl

(3) TSI e gEd (4) Tt HroER TR

What type of government is accepted by India ? ,

(1) Presidential form of government (2) Parliamentary form of government
(3) Monarchical form of government (4) None of the above
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175. TRRTL shoren fewmmit vafa sid ud 94l ?
(1) feram 2) WeHE (3) s (4) HiaTE
Which place receives maximum rainfall in Maharashtra ?
(1) Alibag (2) Matheran (3) Amboli ' (4) Santacruze
176. A dHE fewmaed arwam.
(1) =S (2) it (3) ® (4) fewa
disks use laser technology.
(1) Concentric (2) Floppy (3) Hard (4) Optical
177. If the length of the perpendicular from the centre of a circle on a chord of length 12 is 8,
then the radius of the circle is ’
(1) 10 (2) 20 (3) 5 4) 342
178. If sin 8 and cos 8 are roots of the equation px2—qx+1r=0, then p, q, r satisfies the
relation : .
(1) p2—q2+2pr=0 (2) p2+q2+2pr=0
(3) p2-q®-2pr=0 - (4) p?+r2+2pq=0
179. If the observations in the data are in ascending or descending order, then the data is
called : '
(1) Arrayed data
(2) Primary data
(3) Secondary data
(4) All are true
© 180. foeTmed wrE 9 gl WgE M WA faefia SvarE GRarrh SUA STt SR, 3Tl

T9ien HE WA ?
(1)  9eitE (2) wEeE (3) M 4) M

In United Kingdom, development of human-animal embryo in laboratory has been allowed.
What is such embryo called ?

(1) Cybrid (2) Hybrid (3) Genome (4) Clone
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feariined TeTRee FHRAYA TR,

181.
(1) e (2) (3) e (4) SR
The is responsible for divorce in tribals.
(1) Poverty (2) Exploitation (3) Child Marriage (4) Health
182. Jre A TR WY B,
(1) faga Tt fie (2) AU AR HEWS
() stua TSt sesa (4) TwHHAR A RIS
Vedokta-Episode was related with .
(1) Vitthal Ramji Shinde (2) Chhatrapati Shahu Maharaj
(3) Bhimrao Ramji Ambedkar (4) Karmaveer Bhaurao Patil
183.
If the sets A=1{3, 4} and B={2, 3, 4, 5}, then the shaded area in the venﬁ diagram
shows :
(1) AUB=A (2) ANB=A (3) AUB=B (4) ANB=B
184. A man at a distance of 30 metres from a building makes an angle of elevation of 60° with
the top of the building. The height of the building is
(1) 1543 () 15 (3) 3043 . @) 1043
185. HERILIE e A=A (Hes) 9 Aeesr. ‘
(1) @ @ T - @) Feug (4) AR
Monsoon forests are found in district of Maharashtra.
(1) Latur (2) Pune (3) Sindhudurga (4) Aurangabad
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1976 TeTt STRATY IAEAAT WA 0] ]9 K= 91 HIael 318 ?
(1) TISERT, G (2) TENER, RIS
(3)  VSITET, MR (4) wEifroE, TR

Which two words were added to the preamble of the Indian Constitution in the year
1976 ?

(1) Socialism, Federal (2) Socialist, Secular
(3) Democratic, Republic (4) Secular, Republic
187. B
10 cms
X cms
A
C
In the figure, ray AD is the angle bisector of |BAC of AABC then x=
(1) x=8 cfns (2) x=15cms (3) x=5cms (4) x=12 cms
188. In any triangle, sum of medians is
(1) less than perimeter of triangle (2) greater than perimeter of triangle
(3) equal to the perimeter of triangle (4) none of these
189. RGN ToIEAq geand fohdt wery Sl

(1) 393 sem (2) 394 ®ed (3) 395 HeH (4) 396 HeH
How many articles were there originally in the Constitution of India ?

(1) =~ 393 Articles (2) 394 Articles (3) 395 Articles (4) 396 Articles
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190. If the selling price (s.p.) of an article is less than its cost price (c.p.), then the loss is :

(1) c.p.+s.p.=loss (2) c.p.+loss=s.p.

(3) loss=c.p.—s.p. (4) s.p.—loss=c.p.
191. __ ? AUl dlecl XA B, |

(1) w&d (2) WU (@) JuRE (4) <UO

. was the first Marathi Newspaper.

(1) Kesari (2) Prabhakar (3) Sudharak (4) Darpan
192. iR g eheq MRATdter shiore T 3R 2

1) e (2) SRV (3) oW 4)  STEIH

Gir Lion Project is located in which State of India ?

(1) Assam (2) Uttar Pradesh (3) Gujarat (4) Rajasthan

193.

In the given vehn diagram, the shaded set is :
(Iy B-A (2) A-B (3) A+B 4) B

194. In [ _IPQRS, M and N are points on diagonal QS such that PM L QS and RN 1L QS. If
PM =10 cm, RN =15 cm and A (APQS)=100 cm? then A (AQRS) =

(1) 150 cm? (2) 225 cm? (3) 250 cm? (4) None of these
Y-1_Y
195. The solution of the linear equation 3 5 is
2 3 -5 5
M 3 @ 3 G - @ 3
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196. P
)
10m
Q&—r)s
15m
{
R
In figure Area of APQS=100 cm? then Area of AQSR is :
1) 150 cm? 2) 150 cmd (3) 144 cm? 4) 225 cm?
197. YR Heitea <q@merEn fahd == Jaoes et w1 ?
1y 09 2y 13 3y 17 4) 26
How many judges are appointed in the Supreme Court of India ?
1y 09 2 13 3 17 4) 26
198. A B
E< C —>D
In the figure measures of two angles are given. If ED || Seg. AB and E ~ C - D then, values
of x,y,z are : .
(1) 65° 35°,100° (2) 35° 65° 100° (3) 65° 80° 35° (4) 35° 80° 65°
199. If 10is added to four times a certain number the result is 5 less than five times the number.

The number is :

1) 10 @) 15 @) 20 4) 25
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200. WO A €ies TAEROTd Srom TGHOME FehR 10T ?
(1) TEEEET (2) et S
(3) S HEE (4) STHEE FRH

~ he pollutants which are released into environment directly as a result of human activity
are known as : ~

(1) Secondary Pollutants (2) Primary Pollutants
(3) Human Pollutants (4) Indirect Pollutants
-00o0-
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